9207SPC

Parts Breakdown

V/rled,dbds

8/18/2010

Page 1 of 2



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

T

@ooxlmm.hmm—\)a
+

/ |

b A A &

Part ID

522596-6
911295-9
411263-7
211033-2
681621-3
512811-6
241080-9
315733-7
421275-2
251306-1
211201-7
961055-9
285816-6
818061-4
911261-6
312355-4
251835-4
341132-7
212005-0
961052-5
221365-9
285805-1
211106-1
312795-6
213301-9
911121-2
325432-3
254002-0
224517-1
911173-3
687010-0
818631-9
856923-8
953106-2
181030-1
194974-6

643600-9
911008-8
631068-1
263014-2
213261-5
271411-8
157268-0
159739-3
664064-4

682502-4
687002-9
911133-5
911103-4
651018-0
911153-9
155625-6
685727-9
273477-4
781008-0
782412-6
794094-2

Parts Breakdown

Part Name

N/A
P.H. SCREW M5X70 5014NB
BAFFLE PLATE, 9217SPC
B. BEARING 608LB, 5091D
INS. WASHER, 9217SPC
N/A
FAN 68, 9217SPC
GEAR HOUSING COVER, 9217SPC
TOOL REST, 9217SPC
P.H. SCREW M5, 9217SPC
B. BEARING 6002LLB, 6510LVR
RETAINING RING S-15, 5057KB
BEARING RETAINER 19-33, 9217SPC
LABEL, 9207SPC
P.H. SCREW M5X40, 9900B
GEAR HOUSING, 9217SPC,T1
CAP SCREW M12X12, 9607BL,T1
SHIM, 9207SPC, T1
N. BEARING 810, HR2410
RETAINING RING S-12, 9218PBL
SPIRAL B. GEAR 44, 9217SPC
BEARING RETAINER 22-34, 9217SPC
B. BEARING 6201LLB, 5007NB
HOUSING W/O BEARING, 9217SPC
DUST SEAL 20, 9217SPC
P.H. SCREW M4X14, 9217SPC
SPINDLE, 9217SPC
WOODRUFF KEY 3, 9217SPC
LOCK NUT, 9227CY, 5,7
P.H. SCREW M4X45, 6906
BAND, 9005B
CAUTION LABEL, 9217SPC
NAME PLATE, 9207SPC
RIVET 0-5, HM1500
CARBON BRUSH CB-100,9045B
N/A
BRUSH CAP 6-10, 9005B
PAN HEAD SCREW M3X8, 1050DWA
N/A
RUBBER PIN 4, 9217SPC
O RING 17, AN451
KNOB 28, 9217SPC
MOTOR HOUSING, 9207SPC,T1
MOTOR HOUSING, 9217SPC
CORD (2X18X8 SJ), HR2400
CORD GUARD 8-85, HP2010N
STRAIN RELIEF, 9217SPC
P.H. SCREW M4X18, N9501B
P.H. SCREW M4X6, 9217SPC
SWITCH, 1806B
P.H. SCREW M4X28, JR3000V
HANDLE COVER, 9217SPC
DOUBLE-COATED ADHESIVE SHT, 9207SPC
GRIP 37,9217SPC
WRENCH 17, 9217SPC
LOCK NUT WRENCH 28, GA7911
N/A

Page 2 of 2

Quantity

S A A AN AN AN N A A A A A A aaaPNDN_,E AN 2 A N N, A a b maaaWaabdDaaoaaaN""A A aaaaaiNha-~

9207SPC

8/18/2010



